e 20201380101
ksl APEX DYNAMICS, INC.

R R RS EMMF R

T 58 55 5 SRR RS - WA B ERBIRE < L EK
BRARES -

a. BT EErEEoR - & T s B N RSN R
b. WENE » BRETER - s 000 TBEE (BRLE - RLWHE )

BURNEARE  UEMANE (X—) RHD Sy ——
NBZ 5%+ K 1~4 BB - BIRF IR 218 s e e
HEIRIRE | -

1 REMRBREBIIREER  URMBNDER (R—)
BECHNE  K1~40IBF - BRDRFHRHM




ER=zuzgsmrgss |

- ANABERS | BESSEBACHER L | BE100B4HER YD | WE1290E4ZHBRH
™ [mm] [Nm] [In-lbs] [Nm] [In-lbs] [Nm] [In-lbs]
M3 x 0.5P 2.5 1.3 12 1.8 16 2.1 19
M4 x 0.7P 3 3 27 4.1 37 49 44
M5 x 0.8P 4 6.1 55 8.2 73 9.8 87
M6 x 1P 5 11 98 14 124 17 151
M8 x 1.25P 6 25 222 34 302 41 364
M10 x 1.5P 8 49 434 67 594 80 709
M12 x 1.75P 10 85 753 116 1028 139 1232
M14 x 2P 12 137 1214 186 1648 223 1976
M16 x 2P 14 210 1860 286 2534 343 3038
EEzusnnsmnrens
#i#E |o(C3)| 8 11 14 19 24 28 32 35 38 42 48 55 60
ES Bf M5 | M5 | M6 - - - - - - - - -
MF 060 Eff
£ 3:0) M5 | M5 | - - - - - - - - - -
ES E - M6 | M6 | M10 - - - - - - - -
MF 075 Eff
AR M5 | M5 | M6 - - - - - - - - .
B Ef - - M8 | M10 | M10 | M10 | M12 | M12 - - - -
MF 100 ET
T - M6 | M6 | M10 - - - - - - - -
VE 140 B - - - M10 | M10 | M10 | M12 | M12 | M12 | M16 - -
T - - M8 | M10 | M10 | M10 | M12 | M12 - - - -
VE 180 BS AR - - - - - M10 | M12 | M12 | M12 | M16 | M16 -
AR - - - M10 | M10 | M10 | M12 | M12 | M12 | M16 - -
ES E - - - - - - M12 | M12 | M12 | M16 | M16 -
MF 210 E?E
EE - - - - - M10 | M12 | M12 | M12 | M16 - -
B E - - - - - - M12 | M12 | M12 | M16 | M16 | M16
MF 240 Eff
L 320 - - - - - - M12 | M12 | M12 | M16 | M16 -
BHRST [mm] M5 x 0.8P M6 x 1P M8 x1.25P | M10x1.5P | M12x1.75P| M16 x 2P
ANEBBERST [mm] 4 5 6 8 10 14
[Nm] 9.8 17 41 80 139 343
HRHED [In-lbs] 87 151 364 709 1232 3038
B EERER | THNREBHSEN ERBEE20% , LBRITE.

*
* *
Lt APEX DYNAMICS, INC.

40763 AFMATERE =105
| Fax:886-4-24650118
sales@apexdyna.com | http://www.apexdyna.com

Tel:886-4-24650219

APEX-2024-02-01




	頁面 1
	頁面 2

